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LO: to subtract a 2-digit from a 3-digit number, crossing 10 or 100.

| know that 10 ones = 1 ten and 10 tens = 1 hundred.

| can set out the written column method for subtraction.

| understand that | need to exchange when | do not have enough ones or tens.




Solve these subtractions using concrete

a,pparatus .

Hundreds Tens - B
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426 - 35




Solve these subtractions
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Soive t/'w,se sub,tra,ctl,ons using thz cdumn .

method.. —

423 - 58
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Tlve these subtroctions using the
lumn method. Make sure to show

W exchcmges.
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Mary used the column method to work out 563 - 82.
She gets the answer 521. She is incorrect.
Can you work out her mistake?




